2010 Information Processes and Technology

Question 5

A large clothing-store chain has recently made major upgrades to its stock/sales
information system. Many of the staff need to be trained in the use of the new
information system. The director is implementing the new system in the following
sequence:

e men’s clothing section
e women’s clothing section
 children’s clothing section.

Which of the following methods of conversion is being used?

A X Direct
B X Parallel
C « Phased
D X Pilot

HSC Statistics on this Question:
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Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 36% 22% 10% 4% 0%
B 17% 21% 6% 1% 2%
C 36% 42% 73% 83% 89%
D 9% 14% 12% 13% 10%
N 1% 1% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.
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